PHYSICS FORMULA AND NUMERICALS- part 1

1.Parsec is a unit of
IRA fohaeh! SHS 87
a) Distance/ @
b) Velocity/ ddT
c) Angle/ &I0T
d) Time/ dHT

Parsec or parallactic second or is a unit of distance. It is defined as the distance at which one
AU (astronomical unit) subtends an angle of one arc second, and is equal to 3.26 light years.
Or, it is the unit of length which is used to measure the large distances of celestial bodies
outside the solar system.

IRY AT Feel Hehs AT g T Teh 35 ¢l 380 30 gl & &7 & aReNa foar
ST & o W T T (Tl $h1s) U a1 s &l HI0T AR el g, 3N
3.26 Y1 a¥ & RIS @Il g1 AT, g TS T Shs & ToldepT 39T IR #FsST &
e Teery RS 7 997 gff 7 A & faw R S g

2. Formula of distance:
CRUCAREE
a) Speed/time/ /AT
b) Speed X time/ 3T X THT
c) Force X time/ el X §HI
d) Force/time/dol / AT

3. 1 Nano meter =?

(@) 1/10° m

(b) 1/10% m

(c) 1/108 m

(d) 1/10° m
Factor Name Symbol Factor Name Symbol
10 decimeter dm 10° decameter  dam
102 centimeter cm 102 hectometer  hm
103 millimeter mm 103 kilometer ~ km
106 micrometer  xm 106 megameter  Mm
109 nanometer  nm 10° gigameter ~ Gm
1012 picometer pm 1012 terameter Tm
1015 femtometer ~ fm 101 petameter  Pm
1018 attometer am 1018 exameter Em
1021 zeptometer  zm 1021 zettameter  Zm
1024 yoctometer ym 1024 yottameter ~ Ym
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4. What does a meter equal?

Teh Hie fohdesh SRTeR glaT g?
(a) 107® micron
(b) 10® micron
(c) 1073 micron
(d) 103 micron

5.1 pound = ounces
143 = klip:)

a) 20

b) 12

c) 18

d) 16

16 ounces - 1 Ounce is a unit of weight equal to one-sixteenth of a Pound.
1 ounce is equal to 28.349 grams.
1 Pound is a unit of weight equals to 16 oz.

6. Bus travels a distance of 360 km in 5 hours. what will be the speed of bus?

S 5 ° # 360 fohal &l gl T Yl & | 9 T a1y FT g
a) 36km/h
b) 72 km/h
c) 78 km/h
d) 24 km/h

Solution : Speed= Distance/Time
Speed=360/5=72km/h.

7. A cyclist covers 500m in 5 minutes. What distance would the cyclist cover in half hour if
he travels at the same speed?

Teh AT ehol ATeleh 5 fATC 7 500 HIeX T gl I AT ¢ | Afe ATSTehel TTeleh HATH 1T &

AT T & ot a6 3T 6 Fohcelt gl a2 am?
a) 6km
b) 3000km
c) 30km
d) 3km

5 minutes = 300 seconds

Half hour = 1/2 x 3600 = 1800 seconds

If 500 m is covered in 300 seconds,

= In 1800 seconds, the distance travelled will be = 500 x 1800/300
=3000m = 3km
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8. A tortoise moves a distance of 100 metres in 15 minutes. What is the average speed of
tortoise in km/h?

Th HPIHT 15 AT F 100 FIeY A gt 07 AT | FTIT A 3ad 1 fohall/erer 7 o1
g?

a) 150 km/h

b) 75 km/h

c) 0.4 km/h

d) 1500 km/h

Solution : Total distance=100m =0.1 km
Total time taken=15 minutes= 15/60=0.25 hour

Average speed = Total distance travelled/ Total time taken
=0.1/0.25= 0.4km/h

9.1 Newton =?
17gga =?

(@) 1 kg x 1 ms?
(b) 1 kg x 1 ms?
(c)1kgx1ms?
(d) 1 kg x 1 ms?

10. Which of the following is not true?

$H A FATHE &7
a) Force = work X displacement/ &Tef = T X faeamaeT
b) Force = Work / displacement/ sTel = EFI'éf/ﬁ'FW
c) Force = Pressure / area/ el = ¢dld / aT
d) Acceleration = Force /Mass / cdXUT = &l / g HTA

11. What is the force which produces an acceleration of 50 m /s?in a body of mass 2 kg?
2 ThaIT gegHTeT & TS H 50 m/s? T caUT 3cUss] ahlel aTell Il FAT§?

a) 250N

b) 10N

c) 100N

d) 25N

Solution :

Mass, m = 2 kg

Acceleration, a =50m/s?
Force F =m x a = 2x 50= 100N

12. Find the acceleration produced by a force of 5 N acting on a mass of 10 kg.
10 ThdIT GeTATS X 5N & ol GART 3cUesd cal 0T AT shIToIT |
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a) 50 ms?
b) 2 ms?
c) 0.5ms?
d) 5ms?

Solution:

ForceF=5N
Massm=10kg

Acceleration 4 = E = 5 =0.5m/s?
m 10

13. Which of the following is incorrect equation of motion?

fArafaf@a & & et a1fd &7 aTerd FHIRIOT B?

a) v=u+at
b) u?=v?+2as
c) u=v-at
d) s=ut+l/2 at?

14. The formula for finding acceleration is:

IR OT ATl Shlel T T &

a) (vxt)
b) (1/1)
c) (W/t)
d) (v-u/t)

15. A racing car has a uniform acceleration of 4 m s2. What distance will it cover in 10 s after
start?

Teh YA HR T ThHAT ca0T 4 m 52§ | YE gl & F1c; Ig 10 Yehs H fohetall gl a7
Hf ?

a) 200m
b) 100ms?
c) 50m
d) 300ms

Solution: Initial velocity (u) =0 ms™
Acceleration (a) =4 ms™

Time period (t) =10s

s =ut+1/2 at?

s =0x10s + 1/2 (4ms™2) (10s)?
s=200m
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16. A car is travelling along the road at 8 ms™. It accelerates at 1 ms™ for a distance of 18 m.
How fast is it then travelling?

Teh R T3 & Tohal 8 m/s I AT & Tl TET & | T 18 FHIeX I gl & Tl 1m/s2 I AT
AT & | Tg Tl ol & AT A IETE ?

3 25m/s?

b} 50m/s?

< 10m/s?

d 114 m/s?
Solution :

Initial velocity, u=8m/s
Acceleration, a=1m/s<

Distance, s=18m

using relation, v=u? +2as
vZ =(8)F +2x1 x18
v =64 + 36 =100

v = /100 = 10m/s

17. An object of mass 6 kg is sliding on a frictionless horizontal surface with a uniform speed
of 8 m/s. The force required to keep the object moving at the same speed along the same
straight line is

6 TohaIT ST ATeT T Ueh aE] 8 #1/A T UehH AT Tl & TY0T gl &AsT Helg TR thael W

& | IE I AT a1 & FATH el 3@m & TIATH 7@ & v snagr o g
a) 54N
b) 27N
c) ON
d) 13N

Newton's first law of motion: A body doesn't change its states until an external force acts on
it.

The body is moving with a constant velocity of 8m/s, So acceleration in the body is zero.
Force = Mass x Acceleration

Force =6 Kg x 0

Force=0N

18. Formula of momentum?

AT T GA?

a) Mass X acceleration/ gedHTeT X Ul
b) Force X displacement/ &el X TaEATIeT
¢) Mass X velocity/ eI X ddT
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d) Distance X time/ Z‘@X JAg

19. The momentum of a body is 50kg.ms™ and its velocity is 5 ms™? .What is the mass of
body ?
U U8 T AT 50kg.ms? & 3R STHT AT is 5 ms? g1 TS &7 geqd AT FAT8?

a) 10kg

b) 250kg

c) 250N

d) 10N

20. What is the momentum of an object of mass is 60 kg moving with a velocity 6ms1?

ferell aEq] T HAIT T & ToTEehT ced ATt 60 ohalT § 3R 6 ms? & AT QAT AT & 2
(a) 360 kg.ms™

(b) 10 kg.ms™

(c)10N

(d) 100ms™

Solution: Mass = 60 kg
Velocity = 6 ms™?

Momentum = mass x velocity
M= 60kg x 6ms™

M =360 kg.ms!

21. If the mass of an object be 10 kg, what is its weight ? (g = 9.8 m/s?).

e, foREY I T ST 10 ThaT &Y, T SHhT 37X T g1Tm?
a) 980N
b) 98 N
c) 98 kg.ms*
d) 0.98 kg.ms™2

Solution: Weight, W=mxg=10x9.8=98 N

22. If the mass of an object is 60 kg, what will be its weight on the moon ?

e, fohE I T ST 60 haT &, AT TSHT I 3HHT HR fohefIT €191 2
a) 60N
b) 600N
c) 100N
d) 10N

Solution : Mass of object, m = 60 kg
g =10 m/s"2
So, weight of object on earth = mg
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=60x10
=600 N
Weight of object on moon = 1/6 x(weight of object on earth)
=1/6 x 600N
=100 N

23. Formula of kinetic energy:
Tri?ﬁrﬁi‘ra?ra}r

a) 1/2mgh

b) mgh

c) 1/2mv?

d) FXs

24. Mechanical energy is equal to:

1A Foll ST Bl &

a) Kinetic energy + Chemical energy/ AT Sl + TS FaAT
b) Kinetic energy + Potential energy / et Fal + Tufas Far

c) Kinetic energy + Heat energy / 3TTaiol Fail + SSAT Fall

d) Kinetic energy + Electrical energy/ AT Sl + ﬁag?rm‘r

Mechanical energy is a combination of Kinetic energy and Potential energy.
Mechanical energy is defined as the sum total of kinetic energy and potential energy in an
object that is utilized to do work.

25. Dimensions of the following three quantities are the same

AT @d Y A3 & AT AT &

a) Work, energy, force/ S, FaiT, gof

b) Velocity, momentum, impulse/ a?T, ?'Tﬁ, 3Ta9T

c) Potential energy, kinetic energy, momentum/ ﬁﬂﬁﬁﬁ‘ﬂ ?’Tﬁ\_rfﬁxf, Haqr
d) Pressure, stress, coefficient of elasticity/ ¢dld, Qﬁa'?vf, HTHHSTUIUTFH?

26. If the momentum kinetic energy of a particle is doubled, then its momentum will:

e, ol 0T & FTTTIST ST Qe Y &1 ST, Tl 3EehT FaaT gram

a) Remain unchanged/ 39Rafdd @=r
b) Be doubled /gIT=T Bl=AT
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c) Fourtimes/dN dX
d) Increase V2 times/ \/Eﬂ'ﬂTa"cEI'ﬂT

Given — KE1 = 2KE

The relationship between the kinetic energy (KE) and Linear momentum (p) is —
P=V2mKE --—(1)

When the kinetic energy of a particle is doubled, then

P1=V2mKE; = V2m(2KE) = VAmKE =2VmKE =~ - (2)

Divide equation (1) and (2).

p/p1=V2mKE /2VmKE  =v2/2 = 1/4/2

pl=v2p

=~ If the K.E. of a particle is doubled, then its momentum will increase by V2 times.

27. The kinetic energy of a body is 400 J. Find the velocity if it's mass is 50kg.
fordlT T3 fr arfcrsT T 400 J § | AT SHPT GeTATST 50kg § Al AT AT DIToTT |

a) 16ms?
b) 4ms?
c) 10ms?
d) 8ms?

Solution : The kinetic energy of a body is
KE=1/2mv?

400=1/2x50xV?>
16=V?
4dmst=V

28. If an aeroplane travelled 4000m distance and work done is 20000)J. Then force applied
onitis -
e Teh §aTg STETST 4000 HIET hr gl o & & 3R T aram &1 20000) §1 A8 3H W

TIMATIRATIAG -
(a)5N
(b) 50 N
(c)0.20 N
(d) 10N

Displacement = 4000 m

Work done =20000J

Work done = Force x Displacement
20000 = F x 4000m

F =20000/4000

F=5N
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18. An object of mass 50 kg is raised to a height of 5 m above the ground. What is its
potential energy?

50 kg GEAHTET ShT Ueh TE] T $H A 5 m hl STS TTeh ISIAT ST & | $HehT AT Fait
FATE?

a) 100
b) 2500
c) 746 W
d) 100 Pa

Solution: Mass (m) = 50 kg
Acceleration due to gravity (g)= 10m/s
Height (h)=5m

Potential energy=m x gx h

P.E=50x 10 x5 =2500J

Potential energy = 2500J

2

30. 1 horse power is equal to —

1 BT 9Te foheeh SRR g & -
(a) 764 watt
(b) 768 watt
(c) 746 watt
(d) 786 watt

31. If one bulb of 100 W is burnt for 5 hours daily. What is the cost of the energy consumed in
30 days at the rate of Rs. 5/kWh ?

Ife 100 IT€ &7 Uah Tod UfafeeT 5 T deh STllT ST |Rs 5 /fareliare Fir e & 30 feat H @ua
I TS FolT Pl ARTA FATE ?

a) Rs75
b) Rs 100
c) Rs120
d) Rs15

Solution : E=power x time =1 x 100 x 5/1000 kWh = 0.5 kWh
Consumed in 30 days =30 x 0.5 =15 unit
Total cost=15x5=Rs 75

32. Alamp consumes 1000 J of electrical energy in 10 s. What is its power?
Teh oI 10 s 7 1000 J Tl 51T hT @I AT § | SHET QATehel FATE?
a) 10000 W
b) 100 W
c) 1000 W
d) 10W
Solution: Power = Work/Time
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Time=10s
Work done = Energy consumed by the lamp = 1000 J
Power = 1000/10 = 100 Js'* =100 W

33. Which of the following is true?

$H A FATHE &7

a. Power = work done x time;/ STHdT = fohar §3—1T IR x GHT

b. Pressure = Force / area/ &Id = o /&II%ol

c. Force = mass / acceleration/ &l = GcdHTA x cdIU]

d. Work done = displacement /time / forar s/ s = fawuga /aaE

34. 1 Pascal=?

1 grEhel=?

(@) INm™

(b) 100 atmosphere
(c) 1 dyne cm™

(d) INm?

35. 'Bar' is the unit of

TN TohdehT SeTS B2

(A) Temperature/ dTIHT

(B) Heat/ IT&f

(C) Atmospheric pressure/ a’reg?qgaﬁw adra
(D) Current/sTIRT

36. What force acting on an area of 0.5 m? will produce a pressure of 500 Pa ?
0.5 m? & &1 UX I et AT hisT AT Fcl 500 Pa FT GATT 3ol HIM?

a) 500N
b) 100N
c) 250N
d) 50N
Solution:
_ Force
Pressure =
Area
Foroe = Area x pressure
= 0.5 x S00
=250N

37. Which of following is the dimensional formula of Density?

TAFATITET # & et Tetca o1 3TATH 7 &7
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a) [MOLTY]
b) [MLT?]

c) [ML3T9
d) [MOLTY]

Density = mass/volume
Density = kg/m3

Density = [MLOT]/[MCL3T]
Density = [ML3TO]

38. What is the mass of cement having its volume and density is 5 m® and 3000 kg/m3 ?
5 m? 3T 3000 kg/m3 & A 3R Gelcd dTel AT FHT GTATT FT g2

a) 15000 kg

b) 600 kg

c) 1500 kg/m3

d) 1000 kg/m?

Solution: Volume=5m3
Density= 3000kg/m3

Volume=5m?
Density= 3000kg/m°
. mass of cement
Densnv of cement =
volume of cement

mass of cement = Density of cement x volume of cement
= 3000 x 5 =15000kg

39. The volume of 50 g of a substance is 20 cm>. What will be the density of substance?

oY 9Tl & 50 IATH T 3T 20 cm? § | TETY T Tsicd fohdalT g1aT?
3 1000g/cm?
b) 2.5g/cm3
c) 500g/cm?
d) 4.5g/cm3
Solution: Density = (Mass/Volume)
Density = (50/20) = 2.5g/cm3
Density of substance = 2.5g/cm3

40. What is the S.I. unit of wave speed?
RaT 1fa I TH.3TS. sFS FATE

(a) Meter/dHIeX

(b) Meter/second/HTeX /TS

(c) Second /T&s
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(d) Hertz/g&sT

41. Loudness of sound measured in?
eqfel T TeeldT Tohds ATIY AT 72
(a) Resonance / aﬂmq?r

(b) Frequency/ 3-11_clcﬁf

(c) Decibel / 3TATeT

(d) Hertz/ gt

42. What is the S.1. unit of wavelength?
AT & 1 U378, ShIS FATR?

(a) Hertz / 3é§r

(b) Kilogram / foreirama

(c) Second / @&hs

(d) Meter / HIeX

43. The velocity of a wave is frequency and wavelength A?
Teh {37 T 49T 3T 3R ALeTeed g2

(a)v=1/fA

(b) v="FfA

(c) v=N/f

(d) v=f/A.

44, What is the frequency of a wave whose time period is 0.05 second?

Teh oR3T T AT T AT & ToTeehT 3HTacishiel 0.05 Yhs § ?
a) 5Hz
b) 10 Hz
c) 20Hz
d) 40 Hz

Solution :

1

l‘l'(‘(lll(‘ll('.\' — "Time period

re » sy — ; -
Frequency = 00 Hz
1 )

Frequency = = Hz

. Frequency = 20 Hz

45. What is the frequency of the wave if the time interval of the vibrating object is 0.04
seconds?

e, Ul it aTell aEc] T HHI ITcRTeT 0.04 Yehs § T AT T T FT 82
(a) 250 Hz
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(b) 25 Hz

(c) 20 Hz

(d) 200 Hz

We know that F = 1/t where F = frequency and t = time period of the vibration. Thus, the
frequency of a vibration whose time period is 0.04 seconds is 25 Hz.

46. What is the wavelength of a sound wave in a medium with a frequency of 840 Hz and a
speed of 380 m/s.

840 §CoT T 3T 3R 380 FeX/Aehs hY ATl ATl HATEH H Eafel T I AITGed FAT 5 |
(a) 0.45 m

(b) 5.45 m

(c)1.45m

(d)2.45m

Velocity V=380m/s
Frequency n=840Hz
Wavelength A=?

we have two equations
V=Axn

380=Ax 840

A =380/840
wavelength is 0.45m

47. A person is listening to a tone of 500 Hz sitting at a distance of 450 m from the source of
the sound. What is the time interval between successive compressions from the source?

Teh SAfercl Eafel o BT & 450 HIET T g1 IR FS U 500 §ET T TR Gl TR A

HiAS IS & 8 T AT T FAT 8?2

a) 0.004s

b) 0.025s

c) 0.002s

d) 0.50s
Solution: The time interval between successive compressions from the source is equal to
the time period and time period is reciprocal of the frequency. Therefore, it can be
calculated as follows:
T=1/F
T=1/500
T=0.002s.

48. If the ratio of the amplitudes of two waves is 4:3, then the ratio of maximum and
minimum intensity is

I & AT & TATAT T 3T 4:3 8, 7T ITThcTa R weTcTa eIl &1 3797 §
a) 16:9
b) 1:16
c) 1:49
d) 49:1
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Solution: let amplitudes 4x and 3x respectively.
At maxima amplitudes add up giving 7x

At minima amplitudes substract giving x
Intensities ratio =49/1.

49. Which of the following is correct formula?
T A aHa arga agree
a) Refractive index = speed of light in vaccum /speed of light in medium/mﬂ'ﬁ:
foraTa & ganrer i arel/ATeTsT & Yanter H are
b) Speed of light in medium = Refractive index X speed of light in vaccum/ FTEITH H
eRTRT 3T 3TTeT = 3Tqactetien X foraTd 3 Teprer T a1fay
c) Refractive index = speed of light in vaccum + speed of light in medium/ 3T9acielieh =
foraTer # venrer ST aTer + ATETH F JehTer HT ITel
d) Speed of light in medium = Refractive index - speed of light in vaccum/ ATEIH &

YehT2l hl 31T = 379adiedieh - faTa & genrer &1 arfa

50. The speed of light in vaccum is 3 x 1078 m/s and in glass it is 2x1078 m/s. The Rl of glass is

foraTa & geprer v a1y 3 x 1008 Hiey/AFs & 3R Fra & Tg 2x1018 HeT/Ahs §| HIT FTRI
gl

a) 2.42
b) 1.33
c) 1.5
d 1.0

Solution: Rl of glass = speed of light in vaccum /speed of light in glass = (3 x 1078)/(2 x 10"8) =
1.5

51. Find the focal length of a concave mirror whose radius of curvature is 32 cm.

Teh 37elcTol GUUT hT Piehd gJT #AT ITTT foreeht ashdl fIaam 32 W &
a) 16m
b) 16 cm
c) 64m
d) 64 cm

Solution: Radius of curvature (R) = 32cm
Focal length (f) =?

We know that

f=R/2

=32/2

f=16cm
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52. If the focal length of a convex mirror is 25 cm, what is its radius of curvature?

ITE Teh 3clel GUOT shl ek GJT 25 HHT &, AT 3HehT dshell T3 AT g1 2

a) 12.5cm
b) 50cm
c) 40cm
d) 15cm

Solution: Focal length (f) =25 cm
Radius of curvature (R) = ?

We know that

f=R/2

25=R/2

R=25x2

R=50cm

53. A boy is standing infront of a plane mirror at a distance of 3m from it. What is the
distance between the boy and his image .

Teh TSl HS GUUT & HIHe Y 3 AT T gl W TST & | oI5 R 3q Ficdfaa &
ST g AT

a) 3m

b) 6m

c) 4.5m

d) 1.5m

Solution: v =u, for plane mirror

(v = distance of image from the mirror)

(u= distance of object from the mirror)

Total distance between the image and object=v +u=2u
Here u=3m

Therefore distance = 6m

54. Two mirrors are inclined at an angle 60°, an object is placed asymmetrically between
them. Then number of images formed will be:

&Y &YOT 60° 3 VT I Fh §U &, 3oTeh dTel Ueh ] TAH &9 A TN 91 B | A aofed el
a)
b)

c)
d)

00 N o Ul

The number of images formed in two plane mirrors inclined at an angle A to each other is
given by the formula below for the different cases:

W@ﬁWAwgﬁyawaﬁvﬁﬁaﬂﬁmmaﬁrm%@m
feufast & fav i Rr v g garr dras &:
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Case (1): If (360/A) =Even then,
(2)If mirrors are placed symmetrically and unsymmetrically then/ Ife eqult s AR 3R

IHATAT I @ @1 AT Ar
Number of images =(360/A) - 1
Case (2): If (360/A) = Odd,
(1) If mirrors are placed symmetrically then/ e gUUT & HTAT §T & @M SATT ar
Number of images =(360/A) -1
(2) If mirrors are placed unsymmetrically then/ e SUOT &l ITATHT T F TW@T ST

<__ﬁ.

Number of images =(360/A)
Here, angle of inclination =60°
So, (360/A) = (360/60) = 60° [Which is even]
Hence, The no. of images will be =(360/A) -1
Substituting A as 60
in the formula (360/60) -1=6-1=5
Hence, the no. of images formed will be 5.

55. The power of lens is 4 D at focal length is —
TIhd 3T UR oI F T &THATAD & -

a) 20cm

b) 25cm

c) 50cm

d) 400cm

Solution : Given, Power of lens =4D
Now, Power = 1/focal length(in metres)
Focal length = 1/Power

=>1/4

=>1/4

=>0.25m or 25 cm

56. has S.I. unit ampere?
_ HTHINE. JlC TFERRE?
(a) Voltage / @lecsT
(b) Electric charge / Soifacen el
(c) Electric current / faag?rang
(d) Resistance / ITaTer

57. Joule / coulomb is the same as __?
ol el /Hehs ol GENT ATH FAT§?

(a) KW

(b) 1 Ampere/1 TFIIT
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(c) 1 Volt /1 dTee
(d) KWh

58. A simple circuit contains a 10 V battery and a bulb having 20 ohm resistance. When you
turn on the switch, the ammeter connected in the circuit would read.

Ueh ATYRUT iehe H 10 dlec Y ST 31 20 30 9faQT aTelT Ueh Sod I E | S 3719

f&erer <o X &, At Afdhe 7 S[5T weiex v |
a) 0.5A
b) 0.2A
c) 4A
d) 5A

Solution: According to the ohm's law that V =IR

| = potential difference/resistance

Given values is voltage v = 10v resistance R = 20 ohms
I =V/R =10/20 = 0.5A

59. Three wire of resistance 2 ohm, 3 ohm, 6 ohm respectively are connected in parallel. The
equivalent resistance of the circuit is

TR & cfieT TR haer: 2 314, 3 3T, 6 A FHATAIR H [3 §U ¢ | Fhe T o Tfares
3

a) 1ohm
b) 6 ohm
c) 11 ohm
d) 15ohm

Solution : Given: R1 =2 ohm ,R2 =3 ohm, R3 =6 ohm
Formula:1/R=1/R1+ 1/R; + 1/R3 =1/2+1/3+1/6
R=3+2+1/6 =6/6=10hm

60. Three resistors 1Q, 20 and 3Q are combined in series. What is the total resistance of the
combination?

ofteT gfcRiersh 10,20 3R 30 YW H TYFT § | HAIoToT AT el FTRT fehetar &2
a) 4Q
b) 6Q
c) 8Q
d) 100

Solution : Equivalent resistance is,
Req=R1+R2+R3=(1+2+3)Q=6Q



